i
0z
O
0

0
S

gy
in
1>
o

= /M
SHeiEy (64 &H)
25t 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
Heb | @ ® @) ® ® ® ® @ @)
HH & 3 4 3 4 4 4 4 3 4 5 3 4 4 3 4
25 | 16 17
Heb | @ @
HH & 4 4
NE8 (M) (36 &)
28t g = olXetor HH &
A1 12 cm 4
M2 18 cm 4
17
A3 — 4
- 30
13
A4 = 4
. 36
AABEx ACDE(AASHS)0|ERZ
StSH|= AB:CD=10:15=2:3
A5 BE : BD=2:5=EF:150|22 ..EF=6 7
1
AEBC:§X18><6:54
. AEBC = 54cm?
M Rt2|o| Rpi==7t ®a=7t E|2{™ o|Xt2|7t BTt £|O{OF S22
T @LYOIRI2| 7} 091 B Ho|Xt2| 47tK|, MO|Xt2| 37FX|O|E2 ..4x3=127}tX|O|LC, 6
@LUO|X}IE| 7} 2,401 AR HHO|XIZ| 37}K|, AlQ|KIE| 37}X|O|E2E ..3x3x2=187}X|0|C},
kA, 12+ 18 = 307}X|0|C},
(1) 50| 3t E2 M= e ==
AR XPEIOH 5%, & HRY| Xp2|of 4, M HRf Xi2[of 3Y, U HE X220 2, CHA HEY
XE|of] 1HE M £ YoOZ -5x4xX3xX2x1=120
N7 @) A,BE 6}% MZHs| M EF Z NI =ME2 HE 2 ooz 7

S (Ax3x2x1)x(@2x1)=

) A2t B7} O|RSHA| b5 =HE2 TH 10M O|RE =HES WH 22 1-——=—

48 3
120 5




